





ol

(-1,-2) , Fx=-1

(-1,-2) , & x=1



ODAH.O 0.0 ®0.6 ®e 66 6 0.6



ot I L= ol y = —x* o] DM ZE BFolse Aot

DO y=-x>+1 @ y=-x>+2
@ y=-(x-1)2 @ y=-(x-12+2

® y=-(x+12+2



o2 293 Zo] AC = 1,
BC =2 91 2424 ABC 9l

A sin A xsinB 9] 322
1 2
5 ©3
3

o)




7.

—25in60° + V3 tan45° X tan 60° = #|

® 3-+3 @?—3

@ 0 B 2



che 290 A7g o) Helg &7 7o
AL

@ 24cm? @ 24+2cm?

® 24+/3cm? @ 48cm?

3 48 V2¢m?2



o
m"_n24m99
o
%56H81
ol
Aom56m57
o
%24m81
T
o
o o [0 |3 o |~
o
CRECHARIED
%O | % | B %O TR

@)

D AA



b

ol
N
ol

]\f() ’
X (3)6 4: a 4E[[a

f(x)

o

;OD ,m—l\_

_Z

]
™

B 9
@ 6
3 3

® 0



11.

B2
A (2, —-4) © (-4, -16) ® (3,9
® (-4, -32) ® (4 -2)

DO O B G&©ooe 6 @0



mL o
rlo oo
ol
o
rﬂ

Ty = —2x29] Jezmof gt A

05.1.
lo
Hu
8o
A,
_('}_‘
rlo

@ y%ol diste] tjgolct.
@ ol B=sp,
® %A4o| FELE (0, 0)]c.
@ y =252 o] o} xFo] Thste] oIt
® y— —x29] TP mHET} Eo| Zr},






2
14, oAes y = - (x+ 1) o] aemel A x o] gho] Z7he f, y o
A3he x 9] ghe] W91E Fatofel,

s

b

v



15.

oAt y = 3x? & I LE x FO| FO R o W, y o TF

2b

orE Hagols Al7IH y =3x2 + 6x—1 2 2 Z7tE uf, o -

of ghe Fateler.

Yt
=%



16. oAy =3x2-6x+ 7S y=a(x-p)’ +q 9 B2 v LS o,
a+p+q o < stz

& e
c



OJAFRtF y = ax® + bx+ ¢ O] T E7F HEFH §]0] BE ARZHS
£ ot q,c9 20 BE 12WH(FH 27H)

@D a>0,c>0 @ a>0,c<0 ® a=0,c=0

@ a<0,c<0 ® a<0,c>0



xot x

y=-2x24+4x+6 2 1=

@ 2 3 3 @ 4 B 5

D1



SH
=

B, C 2t



20. oAty =ax? +bx+c 9 I aHI S o,
by +c¢ =02 T 27} A it AR 27

yl\

/

Y

~—
o

X

© Al1,2,3 A2 @ Al 1,3,4 AHEE
@ A 1,2,4 AHEH @ A 2,3,4 AHEH

® A 1.3 AHEH



21. o 2" gol4x -3y +12=0 2 1=
Iof|A 3tana + 4tanb 9] FH2?

D5 @ 6 ® 7
@ 8 ® 10

S




22,

7o) o] Qe = A4 A,B Aelo] A2 E 7817 S8 A 2| HeIA
200m @izl Fof the 13} o] ¢ S Astert. ¢ A Aol A
A AT} B AR vhehE zte] 2717k 30° A of, S A A, B ALo] ]
798 Fatolt,

Al 30
-=-200m- "~

(@)



23.

chg 193} gol AB
B AHANA 7177}
ol Fatoft,

= 200m, /ABQ = 90°, /BAQ = 30° o]
Qe P AL 28ttt & Zto] 60° I o, 7]+

9



Tor

WE7H?

@D

@)

10

0 © ¥ O O



VAT y = ax? O LAy = 222 o] Tefmuct Bol F,

y =222 9 T EET} Eo] Jrky & uf, 24 a o ghe] WL

®—§<a<2 @—g<a<—2 @g<a<2

3 3
@—2<a<—§ @—2<a<§



26. A4S y=ax+b 9 A7 b 7
T ZE o, o F ol y = ax? +b 9
o] 7fEg-2?

/
@ )
Yy Y
0
T
O T
® @
y Y
0
€T
6] T
®
x




1 D)
27. 0° <A <60° ¥ o, (5 —COSA> - \/(COSA +sin 30°)2 9] 3t
Fp?

@D 2sinA @ —sinA @1
@ 0 B -1



28.

(]

il

9] Ao]7} 3cm 9

o
=
A NS E}] tERE o]Fo)xl



29.

u}

]E’r

4ol 7} 10819] 43

Z2

=

|

AldolM A2 A

ojnff, FYwtat 2 RIgkS A== F5hef et
g4 [ 19 [ 29 [ 39 [ 43 | 53]
Ha(#) [ 62 | 77 | 60 | T1 | 74
63] | 73] | 83] | 93] | 103
78 | 62 | 54 | 65 | 80
TSI
gt

42 vehy



